ﬂé Finding Product (3 x 3) Name:

Solve each problem.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

A coat manufacturer puts 156 coats in a shipment. If they sent out 358 shipments, how
many coats would they have sent out?

A race was 401 meters. If 989 people ran in the marathon how many meters would they
have run total?

The ice machine in the lobby of a hotel makes 268 pieces of ice aday. How much ice
would it have made if it ran for 405 days?

The booths at the state fair make 523 dollars an hour. How much money would they have
earned after 834 hours?

A candy store had 779 empty shelves. If each shelf can hold 401 pieces of candy, how
many pieces would they need total to fill up all the shelves?

There are 996 hotels in ahotel chain. If each hotel has 190 rooms, how many rooms are
there total ?

A fundraising company went to 206 different schools delivering 822 boxes of candy to
each school. How many boxes did they deliver total ?

A golf course driving range goes through 557 golf balls a day. How many golf balls would
they go through in 932 days?

A gas station sells 656 gallons of gas an hour. How much gas would they have sold after
927 hours?

A movie theater sells 698 buckets of popcorn aday. If each bucket has 167 pieces of
popcorn in it, how many pieces do they sell in aday?

Answers

10.
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Finding Product (3 x 3) Name. Answer Key
Solve each problem. Answers
1) A coat manufacturer puts 156 coats in a shipment. If they sent out 358 shipments, how
many coats would they have sent out? 1 55,848
o, 396,589
2) A racewas 401 meters. If 989 people ran in the marathon how many meters would they
have run total ? 3 108,540
4. 436,182
3) Theice machinein the lobby of ahotel makes 268 pieces of ice aday. How much ice
would it have made if it ran for 405 days? 5 312,379
6. 189,240
4) The booths at the state fair make 523 dollars an hour. How much money would they have
earned after 834 hours? 7 169,332
g 519,124
5) A candy store had 779 empty shelves. If each shelf can hold 401 pieces of candy, how
many pieces would they need total to fill up all the shelves? 9 608,112
10. 116,566
6) Thereare 996 hotelsin ahotel chain. If each hotel has 190 rooms, how many rooms are
there total ?
7) A fundraising company went to 206 different schools delivering 822 boxes of candy to
each school. How many boxes did they deliver total ?
8) A golf course driving range goes through 557 golf balls aday. How many golf balls would
they go through in 932 days?
9) A gas station sells 656 gallons of gas an hour. How much gas would they have sold after
927 hours?
10) A movie theater sells 698 buckets of popcorn aday. If each bucket has 167 pieces of

popcorn in it, how many pieces do they sell in aday?
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ﬂé Finding Product (3 x 3) Name:

Solve each problem.

7

55,848 396,589 169,332 519,124 436,182

312,379 608,112 116,566 108,540 189,240

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

A coat manufacturer puts 156 coats in a shipment. If they sent out 358 shipments, how
many coats would they have sent out?

A race was 401 meters. If 989 people ran in the marathon how many meters would they
have run total?

The ice machine in the lobby of a hotel makes 268 pieces of ice aday. How much ice
would it have made if it ran for 405 days?

The booths at the state fair make 523 dollars an hour. How much money would they have
earned after 834 hours?

A candy store had 779 empty shelves. If each shelf can hold 401 pieces of candy, how
many pieces would they need total to fill up all the shelves?

There are 996 hotels in ahotel chain. If each hotel has 190 rooms, how many rooms are
there total ?

A fundraising company went to 206 different schools delivering 822 boxes of candy to
each school. How many boxes did they deliver total ?

A golf course driving range goes through 557 golf balls a day. How many golf balls would
they go through in 932 days?

A gas station sells 656 gallons of gas an hour. How much gas would they have sold after
927 hours?

A movie theater sells 698 buckets of popcorn aday. If each bucket has 167 pieces of
popcorn in it, how many pieces do they sell in aday?
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